[m,n] = size(A);
if m~=n, error('Matrix A must be square'); end
nb = n+1;
Aug = [A b];
% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end
% back substitution
X = zeros(n,l1l);
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
Xx(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(i+1:n))/Aug(i,i) ;
end



[m,n] = size (A) ;

if m~=n, error ('Matrix A must be square'); end
nb = n+1;

Aug = [A b];

% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end
% back substitution
X = zeros(n,l1l);
X(n) = Aug(n,nb) /Aug(n,n) ;
for i=n-1:-1:1
Xx(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(i+1:n))/Aug(i,i) ;
end




[m,n] = size (A) ;

if m~=n, error ('Matrix A must be square'); end
nb = n+1;

Aug = [A b];
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[m,n] = size (A);

if m~=n, error ('Matrix A must be square'); end
nb = n+1;
Aug = [A b];
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[m,n] = size (A);

if m~=n, error ('Matrix A must be square'); end

nb = n+1;
Aug = [A b];
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[m,n] = size (A) ;
if m~=n, error ('Matrix A must be square'); end

nb = n+1;

Aug = [A b];

m=3 2 1 2 -3
n=3 A= 1 0 3 b= 1
nb =4 4 -3 -1 -6




[m,n] = size (A);

if m~=n, error('Matrix A must be square') ;

nb = n+1;

end

Aug = [A b];

2 1 2 -3
-1 0 3 1
AUQ =
9T 4316
m=3 2 1 2
n=3 A= 1 0 3
nb =4 4 -3 -1




[m,n] = size(A);

if m~=n, error('Matrix A must be square'); end
nb = n+1;

Aug = [A b];

% forward elimination
for k = 1:n-1
for i = k+1:n
factor = Aug(i,k)/Aug(k,k) ;
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end

% back substitution
X = zeros(n,l1l);
X(n) = Aug(n,nb) /Aug(n,n) ;
for i=n-1:-1:1
Xx(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(i+1:n))/Aug(i,i) ;
end




% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end



% forward elimination

for k = 1:n-1

for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(1i,k:nb) =
end
end

Aug (i,k:nb)-factor*Aug (k,k:nb) ;



% forward elimination
for k = 1:n-1

for 1 = k+1:n

factor = Aug(i,k)/Aug(k,k);
Aug(1i,k:nb) =
end
end

Aug (i,k:nb)-factor*Aug (k,k:nb) ;



% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = _/Aug(k k)|:
Aug(1i,k:nb) =

Aug (i,k:nb)-factor*Aug (k,k:nb) ;
end

end

-3 factor = 1/2



% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = Aug(i,k)/Aug (k,k);

Aug (i,k:nb) = _—factor*Aug (k,k:nb)

end

- o

end

Rad2=Rad 2-1/2Rad 1

k=1 | =2

n=3 2 1 2 -3 factor = 1/2
nb=4 Aug =

4 -3 -1 -6




% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i, k) /Aug(k,k) ;

—-factor*Aug (k, k:nb)

- o

Rad2=Rad2-1/2Rad 1

3 2 1 2 -3 factor = 1/2



% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = Aug(i,k)/Aug (k,k);
Aug(i,k:nb) =

Aug (i,k:nb)-factor*Aug (k,k:nb) ;
end
end

k=1 | =2

n=3 2 1 2 -3 factor=1/2

A Aug= 0 -05 2 2.5
nb =4 4 -3 -1 -6



% forward elimination
for k = 1:n-1

for 1 = k+1:n

factor = Aug (i, k) /Aug (k,k);

Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;

end
end
k=1 1=3
1= 3 2 1 2 -3

A Aug= 0 -05 2 2.5
nb =4 4 -3 -1 -6



% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = |[BUGNENR)/Aug (k,k);
Aug(1i,k:nb) =

Aug (i,k:nb)-factor*Aug (k,k:nb) ;

end
end
k=1 1=3
n=3 2 1 2 -3 factor=4/2=2

_ Aug= 0 -0.5 2 2.5
nb=4 MW 3 -1 -6



% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = Aug(i,k)/Aug (k,k);

Aug (i,k:nb) = _—factor*Aug (k,k:nb)

- o

end
end
Rad3=Rad3-2Radl
k=1 1=3
1=3 2 1 2 -3

— Aug: 0 -05 2 25

factor = 2




% forward elimination
for k = 1:n-1

for 1 = k+1:n
factor = Aug(i, k) /Aug(k,k) ;
—-factor*Aug (k,k:nb) ;
end
end

Rad3=Rad3-2Rad1l

k=1 =3
n=3 2 1 2 -3 factor=2
b =4 Aug: 0 -05 2 25




% forward elimination
for k = 1:n-1
for 1 = k+1:n

factor = Aug(i,k)/Aug(k,k);

Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;

end
end
k=1 1=3
1= 3 2 1 2 -3

A Aug= 0 -05 2 2.5
nb =4 0 5 -5 0



% forward elimination

for k = 1:n-1

for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end

h=3 2 1 2 -3
b = Aug= 0 -05 2 25
4 0 -5 -5 0

|
AN




% forward elimination
for k = 1:n-1

for 1 = k+1:n

factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end

end
k = 1= 3
n=3 _ (2) 015 3 _235
nb=4 Aug = ' '

O -5 -5 0




% forward elimination
for k = 1:n-1

for i = k+1l:n
factor = _/Aug(k k)|:
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end
= 1= 3
_ 3 2 1 2 -3
2.5 factor =-5/-0.5=10




% forward elimination
for k = 1:n-1
for i = k+1l:n
factor = Aug(i,k)/Aug(k,k);

Aug (k,k:nb) j;

Aug (i,k:nb) :_—factor*
end
end

Rad 3=Rad 3-10 Rad 2

kK = 1= 3

1= 3 2 1 2 -3

— -0. . factor = 10
b =4 Aug= 0-05 2 2.5

0 -5 -5 0




% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i, k) /Aug(k,k) ;

Aug (k,k:nb) j;

—-factor*

end

end
Rad 3 =Rad 3—-10 Rad 2
k = 1= 3
N=3 2 1 2 -3
— -0. : factor = 10
b =4 Aug= 0-05 2 2.5

0 0 -25-25




% forward elimination
for k = 1:n-1

for i = k+1l:n
factor = Aug(i,k)/Aug (k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end
kK = 1=3
1= 3 2 1 2 -3

Aug= 0 -05 2 25
O 0 -25-25

|
AN

nb =



% forward elimination
for k = 1:n-1

for i = k+1l:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end
1=3 2 1 2 -3

Aug= 0 -05 2 25
O 0 -25-25

|
AN

nb =



[m,n] = size(A);
if m~=n, error('Matrix A must be square'); end
nb = n+1;
Aug = [A b];
% forward elimination
for k = 1:n-1
for 1 = k+1:n
factor = Aug(i,k)/Aug(k,k);
Aug(i,k:nb) = Aug(i,k:nb)-factor*Aug(k,k:nb) ;
end
end

% back substitution
X = zeros(n,1l);
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
Xx(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(i+1:n))/Aug(i,i) ;
end




% back substitution
X = zeros(n,l1l),;
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

o > 1 2 -3
_ Aug= 0 -05 2 25
nb =4 0 0 -25-25



% back substitution

X = zeros(n,l1l);

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

2 > 1 2 -3 0
A Aug= 0 -05 2 25 x= O
nb =4 0 0 -25-25 0




% back substitution
X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;

for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

-25 X, = -25

o a > 1 2 -3
A Aug= 0 05 2 25 x=
nb =4 0 0 -25-25

O OO




% back substitution
X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;

for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

-25 X, = -25
X, = -25/-25=1
n=23 2 1 2 -3

A Aug= 0 05 2 25 x=
nb =4 0 0 -25-25

O OO




% back substitution
X = zeros(n,l1l),;

x(n) = BUGENEBY/Aug (n,n)

for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

-25x3:-25
x3:-25/-25:1
n=23 2 1 2 -3 0
Aug= 0 -05 2 25 x=0

nb =4 0 0 -2525] .25/.25 = 1




% back substitution
X = zeros(n,l1l);
X(n) = Aug(n,nb)/Aug(n,n) ;

for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

2
o a > 1 2 -3 0

A Aug= 0 -05 2 25 x= O
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

-05x +2x =25
2 3

2
1= 3 2 1 2 -3 0

o Aug= 0 -05 2 25 x= 0
no = 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

-0.5 X, + 2 X, = 2.5
-0.5 X, =25-2 X,

2
1= 3 2 1 2 -3 0

o Aug= 0 -05 2 25 x= 0
no = 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

-05x +2x =25
2 3

-0.5 X, =25-2 X,
X, =(2.5-2x,)/-0.5
| = 2
n =13 2 1 2 -3

0
A Aug= 005 2 25 x= 0
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

x (i) = (Aug(i,nb)-Bug(i,itl:n)*x(i+1:n))/Aug(i,i);

end
-O.5x2+2x3:2.5
-O.5x2 :2.5-2x3
X, =( 2.5 -Ixs) /-0.5

| = 2
n=23 2 1 2 -3 0
o_a  Aug=s 0 -0582825 x=0
nb = 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+l1l:n))/Aug(i,1i) ;

end

-05x +2x =25
2 3

-O.5x2 :2.5-2x3
X, =(2.5-2Xx,)/-0.5
| = 2
n=23 2 1 2 -3 0
B Aug= 0 -05 2 25 x= 0
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

x(i) = (Aug(i,nb)-Aug(i,i+1l:n)*x(i+1:n)) /Aug(i,i)

- o

end

-0.5 X, + 2 X, = 2.5
-0.5 X, =25-2 X,

X, :(-- 2x,)/-0.5

| =2
h—g  Aug= 0052 2B x- (2.5-2)-05
nb = 0 0 -25-25 1




% back substitution
X = zeros(n,l1l),;
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;

end

2
o a > 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution
X = zeros(n,l1l);
X(n) = Aug(n,nb)/Aug(n,n) ;

for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

1
- a > 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

2X +1x +2x = -3
1 2 3

1
o a > 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

2x1+1x2+2x3: -3
2 X, =-3-(1x,+2x)

1
o a > 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+1l:n))/Aug(i,1i) ;

end

2X +1x +2x = -3
1 2 3

2 X = -3-(1x +2x)
1 2 3
X =(-3-(1x,+2x))/2
1=1
n=23 2 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

x (i) = (Aug(i,nb)-Bug(i,itl:n)*x(i+1:n))/Aug(i,i);

end
2X +1Xx +2x = -3
1 2 3
2 X, =-3-(1x,+2x)
X, :(-3-(lx2+|x3))/2
1=1
n=3 2-'3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution

X = zeros(n,l1l),;

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1

X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1i+l1l:n))/Aug(i,1i) ;

end

2X +1x +2x = -3
1 2 3

2 X = -3-(1x +2x)
1 2 3
X =(-3-(1x,+2x))/2
1=1
n=23 2 1 2 -3 0

A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution
X = zeros(n,l1l),;

Aug (n,nb) /Aug (n,n) ;
for i=n-1:-1:1

Xx(n) =

- o

x(i) = (Aug(i,nb)-Aug(i,i+1:n)*x(i+1:n))/Aug(i,i)
end
2X +1X +2x = -3
1 2 3
2 X, =-3-(1x,+2x)
X, :(.-(1x2+2x3))/2
1=1
=3 2/ 1 2 & 0
. Aug= 0 -05 2 25 x=-1
o = 0 0 -25-25 1




% back substitution
X = zeros(n,l1l),;

Aug(i,i+1:n)*x(i+1:n))/Aug(i,1i)

- o

=-3-(1x,+2x)

(Ax,+2x))/2

X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
x(1) = (AUG(INTB)-
end
2X +1x +2x = -3
1 2 3
2x1
X :(._
1=1
=3 2/ 1 2 &
b = Aug= 0 -05 2 25
nb = 0 0 -25-25

X =

(-3+1-2)/2 = -2

-1
1




% back substitution
X = zeros(n,l1l),;
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;

end

o a > 1 2 -3 2
A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1




% back substitution
X = zeros(n,l1l),;
X(n) = Aug(n,nb)/Aug(n,n) ;
for i=n-1:-1:1
X(1) = (Aug(i,nb)-Aug(i,i+l:n)*x(1+1:n))/Aug(i,1i) ;
end

o > 1 2 -3 2
A Aug= 0 -05 2 25 x=-1
nb =4 0 0 -25-25 1
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